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Turn in homework:

6.1 Handout: #13-23 odd

6.2 Handout: #1-23 odd; 35-41 odd
6.3 Handout: #1-24; 30-36 all
(everything except 6.3 proofs)
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2 X 2 X
o . cos ~-sin 5 =cos X

LRS- <Jr+7x> < !-—cosx

= l+cos>i | — cosx.
2 2
= [+coSX ~ (|—cosx)
’ 2
=20 = casx < RIS,

(. COS2X .
—— =(C3SC X —
Sin x 2
LHS=1-2sinX = | 2sic'x
sini  Sin*x Sin°x
= C8Cx -2 = RHS

LHS = cos3— X=Sin X - cos )( sm x

, Sin*x Sin X 51(\)<
=otX — | = cat’znl—czacx
cot x =(s0H

=CSC?X—\ - ) -
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33. .Z(Cos@: cotx -tanx
Sin x

LHS =2 (Cosx-SiiP
A Sinx CosX

= C‘OS‘;( — slne&
SINESX S @s*
= _CSQS\( _ Sinx
N 8}% ("..\
OIN

= catx-tanx =RHS,
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